
k|j4{gfTds If]q  -cf=j= @)&@÷&#_ 

k|j${gfTds If]qsf] nflu ljlgof]hg ug'{ kg]]{ k"+lhut ah]^ af+sLsf] 40 % /sdsf] nufgL 

qm=;+ kl/of]hgfsf] ljj/)f l:js[t /sd 
ljz]if kl/ibaf^ 

l:js[t 

1 jftfj/)f ;+/If)f tyf hnjfo" ;+/If)fsf nflu 

a]ltlg ;Ld;f/sf] ;+/If)f tyf k"jf{wf/ lgdf{)f 

1000000.00 1000000.00 

2 gu/sf] ;"rgf ;+k|]if)f Pj+ :yfgLo ;fd'bflos /]l*of] 

;fem]bf/L sfo{qmd 

100000.00 100000.00 

3 snf ;flxTo ;+/If)f Pj+ :yfgLo kqsfl/tf k'/:sf/ 155900.07 150000.00 

4 ljljw v]ns'b ljsf; sfo{qmd 250000.00 200000.00 

5 *lDk~ ;fO{^ Joj:yfkg 500000.00 300000.00 

6 xf^ahf/ Joj:yfkg d+unjf/] ;+o"Qm s[lif tyf kz' 

ahf/ 

400000.00 400000.00 

7 xf^vf]nf ahf/ Pj+ uf};vfgf Joj:yfkg 200000.00 200000.00 

8 zlgZr/] ahf/ Joj:yfkg 200000.00 200000.00 

9 zx/L oftfoft ;"/Iff;+u ;DjlGwt ;fdfg vl/b 200000.00 150000.00 

10 ;fd'bfoLs d]nldnfk s]Gb| Aoa:yfkg  50000.00 50000.00 

11 ;fj{hlgs ktL{ hUuf v'Nnf If]q lgdf{)f gu/sf] 

xl/ofnL k|j${g / j[Iff/f]k)f 

500000.00 30471.61 

12 pnf{jf/L ljsf; ah]^ k'l:tsf k|sfzg 0.00 150000.00 

  hDdf   3,555,900.07  2930471.61 

 

;fdflhs cfly{s tyf k'jf{wf/ ljsf; sfo{qmd -cf=j= @)&@÷&#_ 

cfly{s aif{ 072.073 ;fndf ;+rfng x'g] cfly{s tyf ;fdflhs k'jf{wf/ lgdf{)f sfo{s|dx? 

 -60 k|ltzt_   

qm=;+ kl/of]hgfsf] ljj/)f l:js[t /sd ;+;f]wLt /sd 

1 SofDk; hf]*g]af^]f If]q *<]g lgdf{)f 500000.00 500000.00 

2 ;*s aQL  Joj:yfkg 800000.00 500000.00 

3 ljB't lj:tf/ sfo{qmd 500000.00 1000000.00 

4 j*f g+= 7 b]jLemf]*f t]nL vf]nfdf :Nofk sNe^ 

lgdf{)f 

500000.00 500000.00 

5 ;'s]xf]nLdf shj] lgdf{)f j*f g++ 9 -l/x]Gb« yfkfsf] 3/ 

x'b} k|:tfljt /+u;fnf hfg] jf6f] _ 
500000.00 500000.00 

7  xf]dkfO{k vl/b 895707.42 595707.42 

8 lqj])fL dfu{ lzz';bg hfg] af^f] ut jif{sf] 

e'Qmflg lbg afsL 

 

0.00 300000.00 



 

&'nf] of]hgfdf hDdf vr{ 

   

  4,695,707.42  

 

4395707.42 

 

nlIft ju{ sfo{qmd -cf=j= @)&@÷&#_ 

 

 
rfn' cf=j= 072÷073 df ;`rfngx'g] nlIft jUf{sf b]xfocg';f/sf] sfo{qmdnfO{ ;+;f]wg ;lxt l:js[t ug]{ lg)f{o 

ul/of] . 

 

dlxnf ju{ nlIft sfo{qmd 10 k|ltzt 

 

qm=; ljj/)f ljlgof]lht /sd 

 

1 pBdlzntf ljsf; tflnd SIYB  -;DefJo 

pBdL_ 

    50,000.00  

 

2 dlxnf pb\#f]if)f 5 lbg] tflnd              

-cu|h dlxnf g]t[x?nfO{_   

    50,000.00  

 

3 sfuhL yF'uf tyf Aofu÷emf]nf agfpg] tflnd     50,000.00  

 

4 *«|fO{leu tflnd     207,104.00  

 

5 O{Da|f]O*/L tflnd -3 dlxg]_    200,000.00  

 

6 gf/L ljsf; ;+# cuf*L *<]g tyf sfnf]kq] 

lgdf{)fdf ;xof]u 

    15,000.00  

 

7 Psn dlxnf lbuf] lhljsf]kfh{g sfo{qmd -afv|f 

;f^f;f^ sfo{qmd_ 

   100,000.00  

 

8 ;]km xf]d ;:yfut ;xof]u     50,000.00  

 

9 :jf= :j= ;]= nlIft ju{     50,000.00  

 

10 16 lbg] dlxnf lx+;f lj?$sf] 

cleofg÷c=>=d=lbj; dgfpg] 

    30,000.00  

 

11 dlxnf km'^jn÷elnan v]n ;`rfng     50,000.00  

 

12 g= d= ;+ ;= ;ldlt ;xhLs/)f     20,000.00  

 

13= cfwf/e't l;nfO{ s^fO{ tflnd ltg dlxg]    100,000.00  

 

14= ;'Ts]/L kf]if)f -35 lbg leq hGdbtf{ u/]df_    100,000.00  

 

15= s'?lt lx+;f lj/$ ;r]tgf sfo{qmd     25000.00 

 

16= #/]n' tyf ;fgf pBf]u sfof{no;+u ;fem]bf/Lsf] 

nfuL dlxnf nlIft sfo{qmd 

    30,000.00 

 

hDdf  1,127,104.00  

 

    

 

afnaflnsf nlIft sfo{qmd 10 k|ltzt 

 

qm=; ljj/)f ljlgof]lht /sd 

 

1 afn k||f]kmfOn tof/L÷lgdf{)f (Software) ;d]t 110000.00 

 

2 gd'gf afn cf>dsf] nflu ef}lts k"jf{wf/ 

ljsf; sfo{{qmd  

125000.00 

 

3 ;'gemf]*f df=la=sf] ef}lts ljsf;  100000.00 



 

4 ;'gks'jf pRr df=lj= k":tsfno kmlg{r/ 

Joj:yfkg 

50000.00 

 

5 b'uf{ df=lj= sf] 6 j^f %fgf]df h:tfkftf 

h*fg 

100000.00 

 

6 l;h{gf df=lj=sf] sDkfp)*df df^f] k'g]{ 50000.00 

 

7 afns]Gb|x?sf] nflu afn kf]if)fo'Qm vfhf -15 

j^f afns]Gb|x?nfO{ ?= 17,000.00 sf b/n]_  

255000.00 

 

8 afne]nf tyf afn ;`hfn u&g 20000.00 

 

9 afn ;`hfnx?sf] nflu afn g]t[Tj ljsf; 

tflnd 

40000.00 

 

10 ;/f]sf/jfn lgsfox? lar afn ;`hfnsf] 

cGt/s[ofTds sfo{qmd / afn>d d'Qm g=kf=sf] 

nflu %nkmn 

20000.00 

 

11 afn kf]if)f Kofs]h 112104.00 

 

12 ;/:jtL lg=df=lj= sDkfp)* #]/faf/f–7 50000.00 

 

13 k|utL afn ljsf; s]Gb|sf] zf}rfno lgdf{)f 50000.00 

 

14 afn ;`hfn Joj:yfkg 15000.00 

 

15 afn>d d'Qm gu/kflnsf agfpgsf] nflu 

ljifout sfof{nox?, ;/f]sf/jfnf lgsfo / 

;DaGwLt ;+#;+:yfx?;+u %nkmn tyf cfjZos 

sfo{qmd 

30000.00 

 

hDdf  1,127,104.00  

    

 

cflbjfl; hghflt ljsf; sfo{qmd s'n -15 k|ltzt sf] 34 k|ltzt_ 

 

qm=; ljj/)f ljlgof]lht /sd 

 

1 5 lbg] pb\#f]if)f tflnd  80000.00 

 

2  df]afOn dd{t tflnd 3 dlxg] 100000.00 

 

3 g]kfnL sfhu pTkfbg l;k tflnd 80000.00 

 

4 P*efG; Ao'l^kfn{/ 1 dlxg] tflnd 90000.00 

 

5 dfemL efiff lnlk ;+/If)f ;DalGw 2 lbg] 

sfo{qmd 

50000.00 

 

6 xn'sf ;jf/L rfns tflnd  100000.00 

 

7 3 dlxg] a'l^s tflnd 74823.00 

 

hDdf    574,823.00  

 

blnt ;d'x s'n -15 k|ltzt sf] 19 k|ltzt_ 

 

qm=; ljj/)f ljlgof]lht /sd 

 

1 sDKo'^/ xf*{j]o/ tflnd 110000.00 

 

2 l^=le= / df]afOn dd{t tflnd 120000.00 



 

3 nf]s;]jf tof/L sIff ;`rfng tflnd 66224.00 

 

4 %fqj[lQ blnt ljBfyL{x?nfO{ 25000.00 

 

hDdf   321,224.00  

 

 

h]i& gful/s nlIft sfo{qmdx? s'n -15 k|ltzt sf] 19 k|ltzt_ 

 

qm=;+= 
ljj/)f ljlgof]lht /sd 

 

1 
c;xfo tyf h]i& gful/s ;Ddfg sfo{qmd    120,000.00  

 

2 j*f g+= 1 df /x]sf] h]i& gful/s ;dGjo 

;dltsf] sfof{nodf wfld{s !fgaw{s kqklqsf 

/ k':ts vl/b 
    25,000.00  

 

3 
blj :yfg dlGb/ j*f g+= 4 df sfk]{^ / jfB 

jfbg ;fdfu|L vl/b     30,000.00  

 

4 j*f g+= 8 df j[$ rf}tf/Lsf] %fgfdf 

ss{^kftf nufpg]  
    45,000.00  

 

5 j[$ rf}tf/Lsf] lgdf{)f j*f g+= 6 
    45,000.00  

 

6 wfld{s k':ts vl/b j*f g+= 2 
    20,000.00  

 

7 gj} j*fsf a[¢x?nfO{ lar cGt/s[of tyf 

cg'ej ;f^f;f^ sfo{qmd -1 lbg]_ 
    36,224.00  

 

hDdf   321,224.00  

 

      

 

ckfé ju{ ljsf; sfo{qmd s'n -15 k|ltzt sf] 15 k|ltzt_ 

 

qm=; ljj/)f ljlgof]lht /sd 

 

1 sd ckfétf ePsf JolQmx?sf] nflu 3 dlxg] 

TV / df]afOn dd{t ;DalGw l;k ljsf; 

tflnd 

   108,598.00  

 

2 /flwsf df=lj= df cWoog/t ckfétf ePsf 

ljBfyL{x?nfO{ sIffsf]&f z}lIfs ;fdfu|Lsf] nflu  

    50,000.00  

 

3 ckfétf ePsf JolQmx?sf] nflu Joj;flos 

Rofp v]ltsf] nflu slRr ejg lgdf{)f 

    85,000.00  

 

4 ckfé sfo{qmd Joj:yfkg      10,000.00  

 

hDdf   253,598.00  

 

      

 

dw];L tyf lk%*f ju{ ljsf; sfo{qmd s'n -15 k|ltzt 13Ü af^ x'g] 60 k|ltzt_ 

 

qm=; ljj/)f ljlgof]lht /sd 

 

1 df]afOn dd{t l;k ljsf; tflnd 
    80,000.00  

 

2 TV dd{t l;k ljsf; tflnd               

-3 dlxg] tflnd_ 
    62,860.00  

 

hDdf 
  142,860.00  



 

    
  

 

d'l:nd ;d'bfo ljsf; sfo{qmd s'n -15 k|ltzt 13Ü af^ x'g] 40 k|ltzt_ 

 

qm=; ljj/)f ljlgof]lht /sd 

 

1 db/;fsf] nflu a|fG*]* sDKo'̂ / vl/b 
    60,000.00  

 

2 sDKo'^/ ^]an vl/b 
     5,000.00  

 

3 db/;fsf] xf]:^nsf] nfuL sfk]{^ / Dof^ vl/b 
    11,924.00  

 

hDdf 
   76,924.00  

 

:yfgLo ljsf; z'Ns -nfut ;fem]bf/L sfo{qmd_ cf=j= @)&@÷&# 

 

rfn' cf=j= 072÷73 df 50Ü nfut ;fem]bf/Laf^ ;Grfng x'g] of]hgfx? 

 

l;=g+= cfof]hgfsf] gfd 
ljlgof]lht /sd 

 

1=  k"j{ klZrd nf]s dfu{ pQ/ pnf{jf/L vfg]kfgL 

hfg] af^f]sf] b'j} tkm{ *<]g Pj+ sfnf]kq] lgdf{)f 
   2,914,300.00  

 

2= pnf{jf/L 6 k"j{ klZrd nf]s dfu{{af^ j*f 

g+=7,8,9 ;Dd hfg] s[lif dfu{ sfnf]kq]  
   2,914,300.00  

 

3= :s"n *F*f kmfu'rf}s x'Fb} dw'dNnf ;*s ;Dd *<]g Pj+ 

sfnf]kq] 
  2,914,400.00  

 

  hDdf  8,743,000.00  

 

;dk'/s sf]ifaf6 ;~rfng x'g] of]hgf -cf=j= @)&@÷&#_ 

 

  

 

l;=g+= of]hgfsf] gfd ljlgof]lht /sd ;+;lf]lwt /sd 

 

1 pnf{jf/L 4 j/uf%Laf^ :s"n*F*f -k"j{ klZrd 

nf]s dfu{_ ;Dd * «]g lgdf{)f tyf ;*s dd{t  

          -     1,500,000.00  

 

2 pnf{jf/L 6 hgr]tgf dfu{ sfnf]kq] ug{]      800,000.00   1,100,000.00  

 

3 g=kf= ejg blIf)f af^f]df *<]g lgdf{)f 

    1,000,000.00  

  500,000.00  

 

  g=kf= ejg pQ/ v';f{g]af/L hfg] af^f]df *<]g lgdf{)f   500,000.00  

 

4 e[s'^L dfu{ ;*s v)* sfnf]kq]            -     1,000,000.00  

 

5 d+unaf/] /fdgu/af^af^ k'/fgf] d+unaf/] hfg] t]ln 

vf]nfdf :Nofa sNe^{ lgdf{)f ug]{ 

    1,000,000.00   1,000,000.00  

 

6 s[i)f rf}saf^ uf]nrf}s x'b} ;'gemf]*f hfg] af^f] *<]g 

lgdf{)f -Ol:^d]^ cg';f/ dfq_ 

    1,000,000.00   1,000,000.00  

 

7 j*f g++= 4 ;]jf;bgaf^ k|:tfljt l/~/f]* hfg]af^f] *<]g 

lgdf{)f ug{] 

     250,000.00    250,000.00  



 

8 O^x/f /f]* af^ kf/;d)fL l#ld/]sf] #/ x'b} /LÎ/f]* 

;Dd hf]*\g] af^f] sf] * «]]g lgdf)f{   

     250,000.00    250,000.00  

 

9 d+unaf/] j; : ]̂)* af^ l;d;f/ hfg] af^f]sf] k'n;Dd 

* «]g lgdf)f{ 

     700,000.00    700,000.00  

 

10 b'uf{ dlGb/ blIf)f xf]d kfOk sNe{^ lgdf)f{      200,000.00    200,000.00  

 

hDdf   5,200,000.00   8,000,000.00 

 

gu/ ljsf; sf]if sf7df08f}af6 -C0f ;fkl6_ ;~rfng x'g] of]hgfx? -cf=j= @)&@÷&#_ 

  

 

l;=g+= of]hgfsf] gfd ljlgof]lht /sd ;+;lf]lwt /sd 

 

1 pnf{af/L 1 cfOtaf/] af^ pQ/ tkm{ vf];fgLaf/L x'b} 

t?)f rf}s;Dd b'a}tkm{ *]|g lgdf{)f / sfnf]kq] 
  6,000,000.00  

 3,000,000.00  

 

2 
cfO{taf/] 1 af^ blIf)f tkm{ rf}af^f] ;Dd b'a}tkm{ *]g 

lgdf)f{ / sfnf] kq]  3,000,000.00  

 

    
   

;8s af]8{af6  ;~rfng x'g] of]hgfx? -cf=j= @)&@÷&#_ 

 

qm=;= of]hgfsf] gfd ljlgof]lht /sd 

! afa'/fd rf}sb]vL pnf{af/L e'md|fxf al:t l;dfgf ;Dd u|fe]n 

dd{t ;+ef/ ug]{ 

786,991.30 

@ j8f g+= ^ b]vL j8f g+= * ;Dd hfg] lzjfno dfu{ u|fe]n dd{t 

;Def/ ug]{ 

485,623.00 

# j8f g+= * l;4fy{ u'Daf cuf8L b]vL ;'gemf]8f ;fd'bflos jg 

pkef]Qm ;d'x x'Fb] d':sfg rf}s ;Dd u|fe]n dd{t ;+ef/ ug]{ 

427,385.70 

hDdf 1,700,000.00 

 

;+3Lo dfldnf tyf :yfgLo ljsf; dGqfnosf] ah]6 cg';f/ ;+rfng x'g] of]hgfx? -cf=j= 

@)&@÷&#_ 

rfn' cf=j= @)&@÷&# df ;+l3o dfldnf tyf :yfgLo ljsf; dGqfnosf] ah]6 cg';f/ ;~rfng x'g] jfn 

pBfg lgdf{0f ug{ j]ltlg ;fd'bflos jgsf] v'nf rf}/df jgfpgsf] nflu ;fd'bflos jgsf] hUuf pknAw 

u/fO{;s]sf]n]  ? !),)),))).– -? cIf?kL bz nfv dfq_;f] nfO{ :jLs[t ug]{ lg0f{o ul/of] .  


